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Directions: I» this part, there are five items which you should transiate into Chinese
each item consisting of one or two sentences. These sentences are all taken from the reading
passages you have just read in the Third Part of the Test Paper. You are allowed 15 min-

utes to do the translation. You can refer back to the passages as to identify their meanings

in the context .
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1. (Line 1-3, Para. 1, Passage 1)
Researchers have established that when people are mentally engaged, biochemical

changes occur in the brain that allow it to act more effectively in cognitive (A %1 #Y) areas

such as attention and memory.

BRI BAESE AMTTZE B , Sk A B 2 7= A A k8 1k, (o Sk BB 7E Y 38 T A AZ N
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A3 HEEAYHREREAR —FAA > -

“fé] % [B1 L (Short Answer Questions) HHEFE“FliEHM WA 25, SWER—
RXE, XEEEA S MR TRMET, BRI E X EZE SN EE (T
AT, Al LR BRI S ) & B3R A IRl S B kb R R S ) . R R R 15 4y
1N

“FEBEEERBESEER:

Directions: In this part there is a short passage with five questions or incomplete state-
ments . Read the passage carefully. Then answer the questions or complete the statements in
the fewest possible words (not exceeding 10 words).

In many businesses, computers have largely replaced paperwork, because they are fast,
flexible, and do not make mistakes. As one banker said, “Unlike humans, computers never
have a bad day.” And they are honest. Many banks advertise that their transactions(l} %7
K )are “untouched by human hands” and therefore safe from human temptation. Obviously,
computers have no reason to steal money. But they also have no conscience, and the growing
number of computer crimes shows they can be used to steal.

Computer criminals don’t use guns. And even if they are caught, it is hard to punish
them because there are no witness and often no evidence. A computer cannot remember who
used it: it simply does what it is told. The head teller at a New York City bank used a com-
puter to steal more than one and a half billion dollars in just four years. No cne noticed this
theft because he moved the money from one account to another. Each time a customer he had
robbed questioned the balance in his account, the teller claimed a computer error, then re-
placed the missing money from someone else’ s account. This man was caught only because
he was a gambler({% ). When the police broke up an illegal gambling operation, his name
was in the records.

Some employees use the computer’s power to get revenge on employers they consider
unfair. Recently, a large insurance company fired its computer-tape librarian for reasons that
involved her personal rather than her professional life. She was given thirty days notice. In

those thirty days, she erased all the company’s computerized records.
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Most computer criminals have been minor employees.
Now police wonder if this is “the tip of the iceberg”. As one official says, “I have the
feeling that there is more crime out there than we are catching. What we are seeing now is

all so poorly done. 1 wonder what the real experts are doing the ones who really know how a

bed
computer works.
Questions:

1. What is the passage mainly about?

2. Transactions in many banks are claimed to be safe because they

3. The bank teller covered up his crime by

4. What must the librarian do thirty days after she received the notice?

5. According to the last paragraph, what kind of criminal are the police unable to catch?

(RS SHER.
1. Computer crimes. / Computer criminals.

. are untouched by human hands / are handled by computers

. Leave her job / Quit her work.

2
3. claiming a computer error / moving money {rom one account to another
4
5. Computer experts. )

ZREERERENTERERES

“ B3 # (reading comprehension) ” 3 Z A% A4 i@t R A B IR EUE B HURE S, B
AR  EREMEM RN EEMKENRES; THRAEEMARNELSHMIHEES;
L 1 B O AT HE B N FI O RE ) s B L T BB X RS, RS, F
B2 FIAR R B X E R, (WA ) U B L R R R T R T R D R R AT Y 58
N GrEE W EEN, FE, M E— T RSN R AR E S,

Al EXEHEAWEAL

BRI ) TR AR A, B SR U S A AR R LA T R B O S EE R

BER X REMER2 U0 CHE, X EREE MR F SER i a0 m, ¢ rEx

3
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BEEFTAN SE SN, BEREEEHEPIEEBEL, BECEN L
BRASBEEAE., EHEAFEUTIERLMR: '
(D What is the passage mainly about?
@ The passage mainly tells us . . .
@ The best title for the passage is . ..
@ The author’s purpose in writing this passage is . . .
® Which of the following best explains the main idea of the passage?
® The passage deals mainly with . . .
@ What is the main idea / subject / purpose / topic of the passage?
@® Which of the following best states the theme of the passage?
© The author apparently asserts that . . .
(9 The key point / The best summary of the passage is . . .

FEMEX SRR EL B, 75 A O 5648 30 5 10 o . 0 08— 3 , #2 HH 4&% B 9 3 854 (topic sen-
tence) o ERVIEEEMIE T REBENEANE, B IERLE XEKN FEA) RHEXE
BRXE., FERAELRERE AERSEERA R, BAFSEEERRAN—
BRI FFBR AT EIE T 3K, BIE 2% (deduction) o A0 SEYE & R AR 485 (induction) , B A 453
Bl—ARAUR , FEAYEAMSBAER R, ATl TEF K P E, MR —SE
XA B BB BREN EEORESEXH EEaRT, LE2SXETEN
BEEREEEMNERLRREHWER, Flwn.

Television is addictive. For example, when set breaks, most families rush to have it re-
paired, often renting one if the repair process takes longer than a day or two. When “noth-
ing’s on TV”, people experience boredom with their lives, not knowing what to do with
themselves. Perhaps the best example of television addiction was an experiment in Germany,
where 184 volunteers were paid to go without television for a year. At first, most volunteers
did well, reporting that they were spending more time with their children, reading, and vis-
iting friends. Then, within a month, tension, restlessness, and quarreling increased. Not
one volunteer lasted more than five months without a television set. Once the sets were on a-
gain, people lost their anxieties and returned to normal.

Question: The main idea of the passage is that

A) many people have fallen victims to television addiction

B) most families cannot go without a TV set even for a couple of days

C) with no exciting TV programs to entertain them with, people will feel bored to
death

D) an experiment in Germany showed all the volunteers couldn’t go without a TV set
B B IE P —4] Television is addictive £ /4], HAb L A0 ARSI B, 35
BRI 0B, AN RERSFEN ENEBENE X L% —, ATMBGRRS FE
AR, BT ERE RN R A, AL BERER TR, 2V TR RRE

o
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SEBR b, 7 PR AR A A R R R AT . XBE S A B B
HFFTAMTTRER -, R H C BB AEEEE  , BHE R L SRR A B
B, B FET LR PASERE S B SRESE R, A 23X FEEE, ¥
EXEZRE B LR R AT, g CENEAN, HENSSTHE
B Tz BRI R R E A R, O R SR F U N A —E BEEA MR XA
KEAK, Bln.

One of the primary materials used in the construction of buildings and roads is cement,
a powder made primarily from limestone and clay. Even though the ancient Egyptians and
Romans used a kind of cement, it was not until 1824 that an English bricklayer developed a
cement strong enough for modern roads and buildings.

While experimenting in his kitchen, the bricklayer found that a mixture of limestone
and clay that had been heated together formed a hard, stone like chunk as it cooled. When
this substance was ground into a fine powder it could be stored indefinitely.

When the powder was mixed with water, it made an excellent quality of cement that
quickly hardened in sunlight or even under water. With only a few variations, this is how ce-
ment is made today.

Question: What is the main topic of the passage?

A) The development of cement.

B) Different uses for cement.

C) Various construction materials.

D) Cement-producing countries.

R SCEE —BIBR T K S ST M RIS R R BT ik T
ANEERERBIKIER ; 35 =Bt — L U T K IR M HERE , 3F 15080 200 25002, s R T
SREKIE . LR, LM B ZRKIBH A RE, B LIERMIZZ Ao

%

After spending years chasing criminals who have been burning down the South Bronx,
District Attorney Mari Merola has concluded that “insurance companies are part and parcel of
the arson problem”. He’s right. Insurance companies, on the whole, have done little to
combat arson because they can pass on the cost to all their customers in higher premiums.
But now the insurance industry has begun its own war on arson.

The most promising aspect is a computerized data bank, set up by the American Insur-
ance Association, to record and evaluate all fire claims exceeding $500. The computer
should eventually be able to identify properties with multiple coverage or owners suspected of
arson elsewhere. It would also disclose a claimant’s previous claims. This program already
has the cooperation of companies that write 90 percent of the nation’s fire insurance. Several
insurance companies, meanwhile, have set up special arson investigation teams. More claims
are being scrutinized and questioned. Adjusters are being taught more about detecting the

crime. The effort is welcome at every level; it will save money, neighborhoods and lives.
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Questions;
1) What is the main topic of this passage?
A) Insurance. B) Computer. C) Multiple coverage. D) Arson.

2. What is the main idea of this passage?

A) The insurance industry’s own protection against arson.

B) The insurance industry and its computer.

C) The American Insurance Association and the arson problems.
D) The cost to all customers.

3. Which of the following would be the best title for this passage?

A) The Insurance Industry’s Effort Bj The Insurance Companies VS. Arson
C) Insuring Against Arson D) The Nation’s Fire Insurance

B AL EERREARERT UK GE E TS, F—BMRTHE
ROlRl R, S —Bp L B, Fi, SCESGR A PO R insurance T IE arson, #UE—B
ANEHER,.B.CHATBRAMX NBHNE,D ARKBMR. 8 A EH,B.D
B AFHEERTRY , CHBREARALE, F=F C EF,BIIEXHR,A.D B L&)
%, AEEHCEMA .

A2 FLHETA

EMEENABHTERBMMBE LM RIS, HBEFA M T EF LAY
FHEERREEREP - MEEEA, B AP S A HYS RO, FHERsHE
THMETE, FEM M CEPEEE T R AN E R JRE SRS, B EEEEL
WEEFELHMATOHIAEST . FRNBEHERS:

@D Which of the following statements is NOT true?

@ Which of the following statements is NOT mentioned in the passage?

® The author mentioned all of the following EXCEPT . ..

@ Which of the following is NOT a result of ...

® The author discusses . . . in order to illustrate which of the following?

® All of the following may be ... EXCEPT ...

WHEABE, IRFENELE, RANS AR HIME, REESE LA EREH
RITZ AT . XERR, EEECE N, B AR/ — TR EmMRE, REH
EMBEEXFE, BOXETIEENFEEEERNFERFR. EREBEHERT,
KER S B S ER A RN P AR A P E iR iR BB R, — BRI ST ENTE
RV UE T RENER. TERE S FTH] B AR I, 55 S8 SR AR IE W ik
WEERRAMARELHANTH, EEASKASRXZLARANERF X, MLk —x
BRI RS o Bl SRR SCE PR BB N AR B S R K X,
SAREYE EREHE,

B—MELRATEUSHRERAMIER L, i what, which, when, where,
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who, why, how FHFFREER 1@ F| 2, ZRF LR H SRR, X SO LR
FIWT, 0 RS TR B A R . BRI, TREBEN FZEEA S T E
FE BRI AT R A 4R R, FE R X e SRR R BB . a8, % T4 when 515
BIR) 85, I 47 13 & during, before, after, by the time % 27K B¢ R] 8 10 5% 45 1% ; X7 F LA
why 5| 8yl , % 5551 B L» because, for, for the reason of, on the account of %3~ &
AR B 1S . X T Ah— L BE[R]1A] Fir g | 5 09 (LA, A AR 1R LR O T 8 Sk A M
JoE A (A5 et sk &) B QIR 1A) , LA 4% 1 [RD R Y T R S B Y

A BB —FELSETEE R URAWE R, R - A a T,
BEEE N SO PR BAR N AR IRIE], ZOK5 A A DHAS 28T P e - et MR B A
HEX DM ARZERNAF, XFEREEE, ETHERBRT XSS, BH7 1 EE /R
R XRTEWEEFN SRECTEFRE LA RRA, IS 05/, 45 B 1 48
SRR, Blm.

After inventing dynamite, Swedish-born Alfred Nobel became a very rich man. Howev-
er, he foresaw its universally destructive powers too late. Nobel preferred not to be remem-
bered as the inventor of dynamite, so in 1895, just two weeks before his death, he created a
fund to be used for awarding prizes to people who had made worthwhile contributions to
mankind. Originally there were five awards: literature, physics, chemistry, medicine, and
peace. Economics was added in 1968, just sixty-seven years after the first awards ceremony.

Nobel’s original legacy of nine million dollars was invested, and the interest on this sum
is used for awards which vary from $ 30,000 to $ 125,000.

Every year on December 10, the anniversary of Nobel’ s death, the awards (gold
medal, illuminated diploma, and money) are presented to the winners. Sometimes politics
plays an important role in the judges’ decisions. Americans have won numerous science
awards, but relatively few literature prizes.

No awards were presented from 1940 to 1942 at the beginning of the World War 11.

Some people have won two prizes, but this is rare; others have shared their prizes.

Questions :
1. When did the first Nobel Prize established? A
A) 1895. B) 1901. C) 1962. D) 1968.

2. The Nobel Prize was established

A) to recognize worthwhile contributions to humanity

B) to resolve political differences

C) to honor the inventor of dynamite

D) to spend money

3. In which area have Americans received the most awards?

A) Literature. B) Peace. C) Economics. D) Science.
4. Which of the following statements is NOT true?

A) Awards vary in monetary value.

B) Ceremonies are held on December 10 to commemorate Nobel’ s invention.
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C} Politics plays an important role in selecting the winners.

D) A few individuals have won two awards.

5. In how many fields are prizes bestowed?

A) 2. B. 5. C. 6. D. 10.

BB A SR T W IR BT 5% o .

1.B % —B& i —4) “Economics was added in 1968, jJust sixty-seven years after the
first awards ceremony” , 1968 425 — Kk W /REM & 58 67 4., B, E— kM AL
DURKRIARTE 1901 4F,

2.A FE—BHE=H".. . for awarding prizes to people who had made worthwhile
contributions to mankind”, B DR 2R T 32 B sk A K4k 7R TR A, BRI
BERE A,

3.D F =B &HJ5—5)“Americans have won numerous science awards. . . ”, FF % D,

4.B WEERTLAAHEREE . AC.D =T AT DA B SCh# 3,

5 WNE—BREREWHATHEINRELZENDLI, 4 5 5&: literature,
physics, chemistry, medicine, peace LA B economics,

HEREMBELMATAATRSWOF L, CHREEZELGCIZEL SHEE M
MBRERABGE-RXE, XEOFENATHBRRBEOME . EESMUET S S
SRR EREA] TR 1 B A A BT 5 4 A TIE , B8 T S IR, B a)
A ANV BESS XHAEHN T2 ABCL IR 23,

2.

Precipitation, commonly referred to as rainfall, is a measure of the quantity of water in
the form of either rain, hail, or snow which reaches the ground. The average annual precipi-
tation over the whole of the United States is thirty inches. It should be understood however,
that a foot of snow is not equal to a foot of precipitation. A general formula for computing
the precipitation of snowfall is that thirty-eight inches of snow is equal to one inch of precipi-
tation. In New York State, for example, seventy-six inches of snow in one year would be
recorded as only two inches of precipitation. Forty inches of rain would be recorded as forty

inches precipitation. The total annual precipitation would be recorded as forty-two inches.

Questions ;

1. What is the average annual rainfall in the United States?

A) 30 inches. B) 38 inches. ’

C) 40 inches. D) 6 inches of precipitation.
2. 152 inches of snow is equal to

A) 3 inches of precipitation B) 4 inches of rain

C) 5 inches of rain D) 6 inches of precipitation

3. Another word which is often used in place of “precipitation” is
A) bumidity B) wetness C) rainfall D) snowfall

B X R TR N,
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B RN RET, CH B R T, BEF NS ERE R A XA S
ks, B TR —EITEE, WPERF". .. thirty-cight inches of snow is equal to one
inch of precipitation” , 31155, FTLAIS HH B B IEHE . 6 =M1 DL —5h) “Precipi-
tation, commonly referred to as rainfall. . ."KBER NEEERE C,

A3 3R TR W

FEEA B A E T R RS, R BOR 5 4 1 MR SO 6L |, SURER B 55
ZE o XK RRE R A TE R SCE T SRR E AT — RE I HE SRR A, B A SO
BRI E L. XFEASE AR EERE PR, BIENE T BIEE WS
BT CE R K BN . ARIEARIA) T A SR BB R A SCE R AN A R T b LA
PNAE SRR, X AT A N A T — R M HEFR R S B, A TTTAG S s A R BRI A
XK E R EEAA

(D It can be inferred / concluded / seen from the passage that . ..

@ The author implies / believes / thinks / suggests / deems that . ..

(3 The author seems to be in favor of / against . ..

@ Which of the following can (not) be inferred from the passage?

& Which of the following can best describe the attitude of the author towards .. .7

® The tone of the passage / author may be . ..

@ According to the author,' what does the sentence “..." suggest?

® From the last sentence we gather that . ..

(® What does the author imply by saying .. .7

(9 The paragraph preceding this passage probably states that . . .

XEEFAEREEARFASE A ECHRFOPMNEEE L £ CFmE
SRR ERRE B MRS . S ILIRIET , R B GRAE K B MU I B A AR 2 AL HERR T
IR, AR R A A A HINTRE TS

METHATHEIE? H5E, MR YENFEE X, R e EFERSES L I2HE
FHREER, HALALEL KRS, BT EX NREMITR, B8 C 08 L 81F
FEWA . WEREN NIZTEE:

OEACEBAERERM -T2 FHXENTE BB CEHIKE;

OF A XS R RBLME R, ICEEE R HELHRE ;

QE A E h R iR A, AT IERR R R M H B B,

GOICRHETE R , V)20 0w 25 -85 , 8% 6 3 WS 6T
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Often people who hold higher positions in a given group overestimate their performance,
while people in the lowest levels of the group underestimate theirs. While this may not al-
ways be true, it does indicate that often the actual position in the group has much to do with
the feeling of personal confidence a person may have. Thus, if a member holds a high posi-
tion in a group or if he feels that he has an important part to play in the group, he will proba-
bly have more confidence in his own performance.

Question: It may be inferred from the passage that

A) If a person has confidence in his own performance, he will achieve a high position in

a group.

B) If we let someone know he is an important part of a group, he will probably become

more self-confident.

C) People who hold low positions in a group often overestimate their performance.

D) People with higher positions in a group do better work than other group members.
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The old idea that talented children “burn themselves out” in the early years, and,
therefore, are subjected to failure and at worst, mental illness is unfounded. As a matter of
fact, the outstanding thing that happens to bright kids is that they are very likely to grow in-
to bright adults.

To find this out, 1,500 gifted persons were followed up to thirty-fifth year with these
adults:

On adult intelligence tests, they score as high as they had as children. They were, as a
group, in good health, physically and mentally. About 70% had graduated from college,
though only 30% had graduated with honors. In a material way they did not do badly ei-
ther. Average income was considerably higher among the gifted people.

In fact, far {from being strange, most of the gifted were turning their early promise into
practical reality.

Questions: ‘

1. The main idea of the passage is .

A) talented children are most likely to become gifted adults

B. bright children are unlikely to be mentally healthy

C) the survey of bright children was made to find out what had happened to talented




